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Tree Cross section

Phase space: Sy
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Exercise: Confirm above result,
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NLO cross section
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NLO cross section
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G1:gluon loop, Gy:ghost loop, Gq:gluon loop (fish type), G4:quark loop
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Feynman Rule
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Exercise: Draw this plot.
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‘STLM Model
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String Model

Start by ignoring gluon radiation:
e T e~ annihilation = pointlike source of ¢ pairs

ntense chromomagnetic field within string 2 ¢q pairs createu
by tunnelling. Analogy with QED:

d(Probability)

dx dt
—xpanding string breaks into mesons long before yo-yo poir
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Cluster Model

Although cluster mass spectrum peaked at sma'' ~ hroad tail a
high m.

“Small fraction of clusters too heavy for isotropic two-body decay
to be a good approximation”™ = Longitudinal cluster fission:

mesonic resonances (=clusters)

Decay to lighter well-
known resonances and stable hadrons.

Rather string-like.
Fission threshold becomes crucial parameter.
~15% of primary clusters get split but ~50% of hadrons come from them.

Event Generator Physics 3 Bryan Webber 38



